Homework Assignment #1

1.

2.

5.

6.

KFCS 1.3.1

KFCS 1.4.1

KFCS 1.5.4, plus the following:
(g) What is the real part of A = Re(A)?
(h) What is the imaginary part of B = Im(B)?
(i) What is the phase of B?

KFCS 1.5.3, plus the following:
(f) What is the real part of A = Re(A)?

KFCS 1.6.1

KFCS 1.7.1. plus the following:
(c) Is the angular frequency that maximizes the acceleration calculated in part (b)

the resonant frequency?

(d) What is the angular frequency that maximizes particle velocity? Is this the

resonance frequency?

Hint: Prior to maximizing the velocity and acceleration by setting their derivatives w.r.t.
frequency equal to zero, find the real magnitude of the velocity and acceleration. You
don’t need the phase because that term and the time dependent exponential can be no
bigger than one.
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